APPLICABLE BUILDING CODES

2018 NORTH CAROLINA RESIDENTIAL BUILDING CODE
2015 INTERNATIONAL RESIDENTIAL CODE w/NC AMENDMENTS

CITY OF SANFORD OF ORDINANCES

MINIMUM DESIGN LOADS: PER 2018 NC RESIDENTIAL BUILDING
CODE /2015 IRC w/NC AMENDMENTS

SUNROOM CATEGORY Il (PER 2015 IRC R301.2.1.1.1 & AAMA / NPEA /
NSA 2100)

DEAD LOADS:
1. ROOF: 15 PSF
2. WALLS: 20 PSF
3. FLOOR: 10 PSF
SNOW LOADS: GROUND SNOW LOAD 10 PSF

ULTIMATE DESIGN WIND SPEED: 118 MPH

LIVE LOADS:
1. ROOF: 40 PSF
2. FLOOR: 40 PSF

THIS SUNROOM IS NOT TO BE CONDITIONED OR USED
AS A PERMANENT LIVING AREA.

NOTES:

. ALL VIEW (AAS) SUNROOM, BRONZE IN COLOR

. CONSTRUCT SUNROOM OVER NEW DECK & PIERS

. NO HEAT BY GDI, ELECTRICAL BY GDI

. ALL CONCRETE TO BE 3000 PSI MINIMUM

. ALL DECK LUMBER IS PRESSURE TREATED SYP #2 OR BETTER

. THIS SUNROOM IS CONSIDERED AS NON-CONDITIONED SPACE EXEMPT
FROM ENERGY REQUIREMENTS (PER 2018 IRC SECTION N1102.1, NOTE 1.2)

(o2 BN S, TN NSNS e

THIS SUNROOM AND FOUNDATION HAVE BEEN EVALUATED FOR DESIGN LOADS
REQUIRED BY THE IRC CODE. THIS INCLUDES ALL MATERIALS, COMPONENTS,
CONNECTION, AND ATTACHMENTS WHEN CALCULATING THE LOAD REQUIREMENTS.

GREAT DAY IMPROVEMENTS LLC
SUNROOM ADDITION ON NEW DECK w/NEW PIERS
FOR WHITEN RESIDENCE

DRAWING # DESCRIPTION

1 COVER
ELEVATION "A, B & C" WALLS
DECK PLAN & DETAIL
FLOOR PLAN
ROOF PLAN
DECK DETAILS
DECK DETAILS
SYSTEM DETAILS
SYSTEM DETAILS
SYSTEM DETAILS

= O 0O NO Ol WD

o

SAFETY NOTE:

ALL CONTRACTORS AND THEIR REPRESENTATIVES WORKING ON THIS PROJECT SHALL AT ALL ITEMS DURING
THE COURSE OF THEIR ACTIVITY BE RESPONSIBLE FOR THE SAFETY OF THEIR EMPLOYEES, AS WELL AS
OTHERS. EACH REPRESENTATIVE AND THEIR EMPLOYEES SHALL ASCERTAIN THAT THE CONDITIONS UNDER
WHICH THEY WELL BE REQUIRED TO ACCOMPLISH THEIR WORK ARE SAFE AND WITHIN THE GOOD SAFETY
PRACTICES AND ALL REGULATIONS OF THE OCCUPATIONAL SAFETY AND HAZARD ACT AND OTHER GOVERNING
REGULATION. IT IS THE RESPONSIBILITY OF THE GENERAL CONTRACT AND ALL SUB CONTRACTORS TO FIELD
VERIFY EXISTING JOBSITE CONDITIONS AND TO KEEP THE JOBSITE SAFE DURING THE ENTIRE CONSTRUCTION
PERIOD.

THE ARCHITECTS RESPONSIBILITY EXTEND ONLY AND SOLELY TO THE PREPARATION OF THESE DRAWINGS. THE
ARCHITECT ASSUMES NO RESPONSIBILITY FOR SUPERVISION OF ANY WORK NOR FOR ANY LIABILITY IN
ERECTION, INSTALLATION AND/OR CONSTRUCTION DURING THE PERFORMANCE OF ANY WORK AS MAY BE
REQUIRED BY THESE DRAWINGS. THE ARCHITECTS SCOPE OF WORK ON THIS PROJECT DOES NOT INCLUDE
JOBSITE INSPECTIONS, FIELD VISITS DURING CONSTRUCTION AND/OR APPROVAL OF PAYOUT REQUESTS.

I HEREBY CERTIFY THAT THESE DRAWINGS HAVE BEEN
PREPARED UNDER MY SUPERVISION AND TO THE BEST OF MY
KNOWLEDGE CONFORM TO THE REQUIREMENTS OF THE
ZONING AND BUILDING ORDINANCES OF:

CITY OF SANFORD

\\\\\\“‘(':'X’“////

N 1y,
S 0¢ //////

=
-
&

(2]
LUl
o
-
92
O
—
o
Z
LLl

BY GREAT DAY IMPROVEMENTS, LLC

LOCATION
GDI - RALIEGH
951 AVIATION PARKWAY, SUITE 1000

MORRISVILLE, NC 27560

984-212-7488

LESLIE M. WHITEN
37 MALLARD TRAIL
SANFORD, NC 27332

JOB #20848

DATE
06/15/23

DRAWN
PLA

SCALE

1/4" = 1'-Q"

SHEET
1 OF 10




/ EXISTING ONE STORY RESIDENCE

3" SUPERFOAM ROOF

WISHINGLES
SUPERFOAM WING(S)

TEMPERED GLASS

TRANSOM(S)

- GUTTER(S)
WIDOWNSPOUT(S), VIF.

- TEMPERED GLASS PATIO
/ DOOR(S) WISCREENS
_
=
P
>

NEW DECK wiNEW CONCRETE
PIER(S) FOOTER(S)

ELEVATION - "A" WALL

EXISTING ONE STORY RESIDENCE

p ‘ Vi Va %Q =
7
e
g K
- ‘\
S| — 7 Y 7
a._
4\ 7:;
| [ [T ] _ .
— 2
TEMPERED GLASS KNEEWALL(S) %@JL [ e e L gt

3" SUPERFOAM ROOF

WISHINGLES
SUPERFOAM WING(S)

TEMPERED GLASS
WINDOW(S) w/SCREENS

GUTTER(S) —.

WIDOWNSPOUT(S), V.IF.

3" SUPERFOAM ROOF w/SHINGLES

7
7
TEMPERED GLASS WINDOW(S) i
WISCREEN(S) \
ke ST T2
@ -2
TEMPERED GLASS [ fo
KNEEWALL(S) x —
~ 7 y
N P P —
7 p p =
] =S e—— M 2 () %.'-
S — — — L
=
L 7%4 L N
NEW DECK wINEW CONCRETE
PIER FOOTERS

ELEVATION - "B" WALL

EXISTING ONE STORY RESIDENCE \

ELEVATION -"C" WALL

12 =
1.75=— , —
— -l ‘ '
Vi
— 4l
=O. Pl
©
p 7

2 # 7 7 ”
i R
% . R
= i — | |
> I I I I
—\

TEMPERED GLASS KNEEWALL(S)
NEW DECK wiNEW CONCRETE

PIER(S) FOOTER(S)

\\\ //, 'y //
S\\;\QQ‘\“ R4y

\\\\\““(':'X“II///

’ //,//VS UK \(P"}\\\\\

SIS

(2]
LUl
o
-
92
O
—
o
Z
LLl

=
-
5

BY GREAT DAY IMPROVEMENTS, LLC

LOCATION
GDI - RALIEGH
951 AVIATION PARKWAY, SUITE 1000
MORRISVILLE, NC 27560
984-212-7488

LESLIE M. WHITEN
37 MALLARD TRAIL
SANFORD, NC 27332
JOB #20848

DATE
06/15/23

DRAWN
PLA

SCALE
1/4" = 1'-Q"

SHEET
2 OF 10




3/4" SUBFLOOR OR DECKING

(AS APPLICABLE)
2x10 JOISTS @ 16" C/C

DBL. 2x10 RIM JOIST FASTEN
W/ (2) 10d NAILS SPACED

MINIMUM 16" C/C

%’\

/(2) 1/2" DIA. THRU-BOLTS

6x6 SUPPORT POST
SIMPSON LUS210 | (NOTCHED)
JOIST HANGERS
(OR EQUIVALENT) S
T SIMPSON PB66Z POST BASE
(OR EQUIVALENT) CAST
INTO NEW CONCRETE
GRADE
09
12" ) ~
> CONCRETE PIER
FOOTER
SECTION A-A

SCALE: 1/2" = 1'-0"

SIMPSON HUC28-2 CONCEALED —
FLANGE JOIST HANGERS (OREQ)

AT EACH END, TYP.

4'x4" P.T. POSTS wi 12" DIA. CONC.
PIERS, MIN. OF 12" BELOW GRADE

(TYP.OF 3)

R EXISTING
FOUNDATIONTO N

REMAIN

451
2-210 RMJOIST

¥
L}

)

3|_5u
-2x10 RIM JOIS

—F

6-0 3/4"
2110 DECK JOISTS @ 16" O.C.

M 1!_8“ N

51114

12!_0“

& !

2-TORIMJOIST
60 34"

N

22010 RIN JOIST
1 511 3/8"

— 2«10 LEDGER BOARD w/ 58" DIA. LAG
BOLTS wiMIN. 1-1/2" THREAD
ENGAGEMENT INTO EXISTING
STRUCTURE @ 16" 0.C. C/C STAGGERED

— SIMPSON LUS 210 JOIST
HANGERS (OR EQ. AT EACH END

|— SIMPSON HUC28-2 CONCEALED
FLANGE JOIST HANGERS (OREQ)
AT EACH END, TYP.

1140 558"

DECK PLAN

6'%6" P.T. POSTS w/ 16" DIA. CONC. PIERS,
MIN. OF 12" BELOW GRADE (TYP. OF 5)
SEE DETAIL A-A ON SHEET 3

\\\\\““(':'X"II///

\\\\\Q;\ N

(2]
LUl
o
-
92
O
—
o
Z
LLl

LOCATION
GDI - RALIEGH
951 AVIATION PARKWAY, SUITE 1000
MORRISVILLE, NC 27560
984-212-7488

JOB #20848

LESLIE M. WHITEN
37 MALLARD TRAIL
SANFORD, NC 27332

DATE
06/15/23

DRAWN
PLA

SCALE
1/4" = 1'-Q"

///)EZ //VS UK \(P‘\

OIS

SHEET
3 OF 10

BY GREAT DAY IMPROVEMENTS, LLC




WALL LEGEND

77777 - EXISTING MASONRY WALL TO REMAIN

T - )STING TOREMAINWALL

***** EXISTING WALL TO BE REMOVED
NEW WALL

GDIELECTRICAL SYMBOL LEGEND

ELECTRICAL RACEWAY POST
—C- DUPLEX RECEPTACLE

FLOOR DUPLEX RECEPTACLE
=O- GFCIDUPLEX RECEPTACLE
~Cx WEATHERPROOF DUPLEX RECEPTACLE

EXIT LIGHT

$ SwTCH

%CEILING FAN wiLIGHT
XCEILING FAN

- SURFACE MOUNTED LIGHT
-~ EXTERIOR COACH LIGHT
L1 SPEAKER

ELECTRICAL NOTES:

ELECTRICAL CONTRACTOR TO VISIT JOBSITE &
BECOME FAMILIAR w/EXISTING CONDITIONS BEFORE
SUBMITTING BIDS.

ALL ELECTRICAL WORK SHALL CONFORM TO THE
REQUIREMENTS OF THE LOCAL ELECTRICAL CODE AND

ANY OTHER ELECTRICAL CODES HAVING JURISDICTION.

S EXISTING ONE —~

4512

3|_5||

1|_8u

STORY RESIDENCE
—— @‘
DN3R's } }
N <
| NEW PRE-MANUFACTURED
SUNROOM wITEMPERED GLASS
I - _ —— WINDOW(S) PER MFR.
f (| t ___ N
' N SPECIFICATIONS, SEE DETAILS ON
11410 5/8" SHEETS 6 THROUGH 10
211 15/16" 1110 58"

FLOOR PLAN

SUNROOM 143 SQ. FT.

\\\\\““(':'X“I////

\\\\\\Q;\ “ R 0 (/ Z////

O
& //VSUK KP‘\\\\\\\\

OIS

(2]
LUl
o
-
92
O
—
o
Z
LLl

BY GREAT DAY IMPROVEMENTS, LLC

LOCATION
GDI - RALIEGH
951 AVIATION PARKWAY, SUITE 1000
MORRISVILLE, NC 27560
984-212-7488

JOB #20848

LESLIE M. WHITEN
37 MALLARD TRAIL
SANFORD, NC 27332

DATE
06/15/23

DRAWN
PLA

SCALE
1/4" = 1'-Q"

SHEET
4 OF 10



AutoCAD SHX Text
s

AutoCAD SHX Text
s


(2]
LUl
oc
-
92
O
—
o
Z
LLl

=
-
5

EXISTING ONE

DRY RESIDENCE
’_I

S

=

BY GREAT DAY IMPROVEMENTS, LLC

bp

il I -

LI
v
7

%10 LEDGER BOARD

LOCATION
GDI - RALIEGH
951 AVIATION PARKWAY, SUITE 1000
MORRISVILLE, NC 27560
984-212-7488

13-0"

3" SUPER FOAM ROOF wISHINGLES, SEE
DETAILS SHEET 6 THROUGH 10

N0 3'1BEAMS

24058"

|

|

|

4

|
|
, ?
N
J

‘\
N

7

JOB #20848

ROOF PL AN LINE OF NEW SUNROOM BELOW

LESLIE M. WHITEN
37 MALLARD TRAIL
SANFORD, NC 27332

\\\\\““(':'X“II///

\\\\\Q;\ \'\ R 0 (/Z///,/

v Z [DATE

06/15/23
DRAWN
PLA
SCALE
1/4" = 10"
NY/ O
7/, \
”//,,',VSUK \(b\\‘\\\\ SHEET

W
OIS 5 OF 10




HOLD DOWN

STAIR STRINGER BEARING AT GRADE DETAIL

— 4x4 GUARD POST ANCHOR OR OPENINGS SHALL NOT ALLOW THE PASSAGE ! .
L STUD PLATE OF A 4" DIA. SPHERE; WET LUMBER MUST BE RAIL GAP: 2x6, 5/4' BOARD OR
) || GUARD POST BETWEEN PACED SUCH THAT WHEN SHINKAGE APPROVED MANUFACTURER
1| (2)1/2" DIA. THRU-BOLTS 101STS SPACED SUC SHINKAG
RIM JOIST Il /~ AND WASHER HOLD DOWN GUARD POST AT / 512" OCCURS, THE MAXIMUM OPENING IS MATERIAL
SUBFLOOR! i/ . ANCHOR OR JOIST LOCATION CAPRALL MANTANED /PN E e
DECKING g}/ [2MN. STUD PLATE g ! —I 2x4 TOP AND BOTTOM:
s C JoIST } GUARD POST 2x2 PICKETS: MAY BE PLACED ! hie 36" MAY BE PLACED ON
py | N | DBL.RIM \__|f~_DBLRIM e ON EITHER SIDE OF GUARD L+ MIN EITHER SIDE OF GUARD
_./ : _f JOIST JOIST JOoIsT x4 H HHHHS _—_—_—_—L—_f_= I POST
JOIST 2" MIN. 4x4 GUARD RAIL POST, _—7 )
HOLD DOWN 212" MIN. ATJOBT BETWEEN JOIST CAP RAIL DETAIL DO NOT NOTCH D P ATTAGH PICKETS AT TOP
ANCHOR OR 5" MAX. PLAN VIEW 312" MAX AND BOTTOM
STUD PLATE : (2) 112" DIA. THRU-BOLTS 60" MAX.
SECTION 2 MIN. AND WASHERS
GUARD POST TO RIM JOIST DETAIL
GUARD POST HANDRAIL GUARD DETA”_
HANDRAIL SHALL
CORROSION RESISTANT RETURN AT EACH
GUARD POST = HANDRAIL HARDWARE END LANDING
(2) 112" DIA. THRU BOLTS\ Il HOLD DOWN GUARD POST 6-0" MAX.
- LS ! RIM JOIST ANCHOR OR
AND WASHERS : HOLD DOWN STUD PLATE HANDRAIL DETAIL ALL STAIRS AND LANDINGS
2"MIN. [ ANCHOR OR MUST BE ILLUMINATED
r % / STUDPLATE GUARD POST ~241/2"MIN. i [, 13 PER IRC R311.7.9
A 5" MAX.
CENTERLINE OF
GUARD POST "
212" MIN _f JOIST JOIST ™ I 2'MIN. PROVIDE BLOCKING BETWEEN IN[H|Rle
5" M ! STAIR STRINGERS AT GUARD | ><'
2u MIN. AT FIRST INTERIOR BAY - ' . + - POST LOCATIONS :‘“"I
PROVIDE 2x BLOCKING PLAN VIEW T T AN
SECTION AT GUARD POSTS W/ J OPENINGS FOR REQUIRED
HOLD-DOWN ANCHORS 2'MIN GUARDS ON THE SIDES OF
THE STAIR TREADS SHALL
GUARD POST ATTACHMENT DETAIL NOT ALLOW THE PASSAGE STAIR GUARD HEIGHT
GUARD POST TO OUTSIDE JOIST DETAIL OF A 4" DIA. SPHERE 34" - 38" MEASURE
2x12 STRINGER FROM NOSING OF STEP
SEE TREAD CONNECTION TRIANGULAR OPENINGS SHALL
RISER MAY BE OPEN REQUIREMENTS FOR SPACING STAIR TREAD: NOT ALLOW THE PASSAGE OF .
SHALL NOT ALLOW LIMITATIONS \ ' A6" DIA. SPHERE !
TREAD MATERIAL: 2x4 OR THE PASSAGE OF A (BZC))i/;DgECK
5/4" BOARD 4" DIA. SPHERE
STRINGERS (3) e o STAIR GUARD REQUIREMENTS
MAN. REQ. ez :
| " ; 1‘/ RISERS: 1x MATERIAL _# ] 4{
o 18 1 18
MAX. -
7 3/4" }
g MAX. MAXIMUM SPAN
3/4" - 1 1/4" NOSING; NOSING I
TREAD CONNECTION REQUIREMENTS SHALL NOT DEVIATE FROM ONE——=—ll=— %?nggé?
ANOTHER BY MORE THAN 3/8"
CUT STRINGER
THESE DETAILS WERE TAKEN FROM TREAD AND RISER DETAIL
THE PRESCRIPTIVE RESIDENTIAL
WOOD DECK GUIDE BY THE N STAIR STRINGER REQUIREMENTS
AMERICAN WOOD COUNCIL HPOST_ ] ALL STRINGERS SHALL BE A MINIMUM OF 2x12
ALL SCREWS, BOLTS AND NAILS FOR STRINGER
———
AL BE HOTOPPED (2)1/2" DIA. THRU-BOLTS | roDzusERNGELOCK ook 1 :
ZINC COATED GALVANIZED STEEL OR STRINGER W/ WASHERS B TO SUPPORT STRINGER TO SUPPORT STRINGER _/Sﬁ)/ msﬂéhTSHRU'BOLTS
STAINLESS STEEL S CUTPOSTATGRADE "2 A4 - g
LG RAIRLKL A ) un
k/\\\/\ SN SINSONVN /\\\\\\/ \ \\ " /\// H \\\\ CA ////
WHEN NO STAIR % // D { 12" MIN. AT ) < W CARp 7,
NOTE: . AT 10x10 SQ. OR 12" DIA. RN (),
: MIN. 4 CONCRETE GUARD IS REQUIRED et \/ N 0w
THIS PLANS WERE DESIGNED WITH : oAb // v FROST 4x4 POST— FOOTER SO v~
AND REQUIRED THAT ALL LUMBER 10x10 SQ. OR 12" DIA. DEPTH > 3 Z
MUST BE MINIMUM RATED SPF #2 OR STAIR STRINGERS SHALL FOOTER , FRONT = E
BETTER PRESSURE TREATED PER BEAR ON CONCRETE PAD 6" MIN. = =
AWPA (AMERICAN WOOD AND NOT COME IN CONTACT SIDE = 5
PROTECTION ASSOCIATION) WITH THE GROUND Z S
STANDARDS 2 S
2 &

TN

SIS

(2]
LUl
o
-
92
O
—
o
Z
LLl

=
-
&

BY GREAT DAY IMPROVEMENTS, LLC

LOCATION
GDI - RALIEGH
951 AVIATION PARKWAY, SUITE 1000
MORRISVILLE, NC 27560
984-212-7488

LESLIE M. WHITEN
37 MALLARD TRAIL
SANFORD, NC 27332
JOB #20848

DATE
06/15/23

DRAWN
PLA

SCALE
11/2"=1-0"

SHEET
6 OF 10




@
(] &
M E
0.148"x3" 10d GALV. NAILS R OPTION2*  TOP OF BEAM AND cye
STAGGER FASTENERS 1/2" LAG SCREW, THRU- 40X : OPTION 1* OPTION2® 5T MUST BE )
IN (2) ROWS BOLT OR ANCHOR W/ o 16" TYP. NEW/NEW OR EXISTING/NEW ALIGNED AT THE c 21 K
‘_2" MIN / WASHER — DOUBLED JOISTS SAME ELEVATION — 9 2
a
LEDGER ' 2" - : - - ; h 5
IR Y Te N i < AL
o
e | 2 | = ; ; - - — - SIMPSON H2.5T CLIP/ \ L
B | -~ g (OR EQUIVALENT) JOIST HANGER
LEDGER BOARD FASTENER SPACING AND CLEARANCE NAIL PATTERN FOR DOUBLED JOISTS JOIST TO BEAM CONNECTION DETAIL
* SEE MANUFACTURERS RECOMMENDATIONS
FOR ADDITIONAL REQUIREMENTS S
o
L
EQ
EXISTING SHEATHING ? 2
T -
©o>x08
;'E'\Hgg; ?SSBTESAM A\B(LSECKWG REMOVE EXISTING SIDING PRIOR o) = 3
— TO INSTALLATION El 2w
SUB-FLOOR REQUIRED WHERE JOISTS EXISTING \?VTAULE 3 Sl x o
DON'T ALIGN W/ POSTS Slz233
| \ ) EXISTING 2x T oS FLASHING EXTENDING EMBED ANCHORS PER CAULK THIS AREA TO RESIST ~[8z28
] MANUFACTURERS CORROSION & DECAY =X
4 BAND JOIST rz MIN. £ o
EXISTNG 2x | | _—DECKJOIST RECOMMENDATIONS S =
JOIST} f i ; : { 2x LEDGER BOARD; MUST BE =
| \ \ GREATER THAN OR EQUAL TO 5
A | CMU. WAL (8 N(\)N"f[')NTAHL) THE DEPTH OF THE DECK JOIST e
" 1 -
3/8" THROUGH BOLTS ' I THRESHHOLD CAREFULLY FLASHED |
1 glgM LV')LN'— ' T IA;\\IIEII'DRSQI%IF\JKED TOPREVENT WATER FILL UNIT CELLS W/ GROUT A
' OR CONCRETE AT ANCHOR 7 \
2¢4 (MIN.) DIAGONAL EXISTING FOUNDATION i JOIST HANGER LOCATIONS |
BRACING . / 1/2" DIA. APPROVED EXPANSION, 7 \
POST ¥ 2x LEDGER BOARD; MUST BE GREATER EPOXY OR ADHESIVE ANCHORS DECK JOISTS
\ - THAN OR EQUAL TO THE DEPTH OF THE W/ WASHERS _1 A Y
N DECK JOISTS AND NO GREATER THAN JOIST HANGERS E = 5
THE DEPTH OF THE BAND JOIST EXQ o
1 . xI <
N LEDGER BOARD ATTACHMENT DETAIL - =g 2K
N
DIAGONAL BRACE DETAIL LEDGER BOARD ATTACHMENT DETAIL - BAND JOIST HOLLOW MASONRY WALL =3g*
w2890
-l )
B2
j ¢'¢\~_. (</()
CAULK THIS AREA TO RESIST
CORROSION & DECAY
EMBED ANCHORS PER 2x LEDGER BOARD; MUST BE
MANUFACTURERS =~/ GREATER THAN OR EQUAL
RECOMMENDATIONS i TO THE DEPTH OF THE DECK SUB-FLOOR 20T @ BEAM W/ PLYWOOD
JOIST . STIFFENERS AS
MASONRY WALL z | I /16 ¢ REQUIRED
v / DBL. 2xRIM (1) 3x OR 4x OR ——  (2)172'DIA THRU-
/f }“/—JOIST (2) 2xBEAW T __~BOLTS W/
12" DIA. APPROVED EXPANSION, - Al i WASHERS SIMPSON POST g,
EPOXY OR ADHESIVE ANCHORS ! ~—__SIMPSON POST CAP BEAM MUST BEAR N CAP OR EQUAL RO W\ CAR 1,
W/ WASHERS DECK JOISTS JOIST HANGER OR EQUAL NOTFCL;LELJSQ \NOTCH POST TO \\ \\\\\QQ:\ 0/ %,
X ACCOMMODATE S ~ '
JOIST HANGERS 434 POST // BEAM 66 POST N S 7 2 [oate
Al LN N S = 06/15/23
LEDGER BOARD ATTACHMENT DETAIL - 6x6 POST WV v = = I5ram
CONCRETE OR SOLID MASONRY WALL RIM JOIST DETAIL POST TO BEAM DETAIL z 5 PLA
Z S [scae
2, S 11/2" = 1"-0"
Y O
//’//,,/}/SUK \(P\\‘\}\\\\\ SHEET
AT 7 OF 10




TEMPERED GLASS

GLAZING STOP

#8x1/2" TEK SCREWS
(2) @ EACH GANGING
(INSIDE & OUT)

AV 1-LITE FEMALE

~DECK FOUNDATION

FLOOR EXPANDER/
FLASHING—/ / d

#10x2" COATED MASTER-GRIP
WOOD SCREWS, STAGGER
SCREWS @ 16" C/C ALONG

FLOOR EXPANDER BETWEEN
UNIT GANGINGS

~

SECTION THROUGH GLASS KNEEWALL
CONNECTION @ DECK FOUNDATION

1/4" DIA. GALV. LAG SCREWS STAGGERED
@ 16" C/C TO PROVIDE MIN. 1 1/2" THREAD
ENGAGEMENT INTO STRUCTURAL FRAMING
(ADD BLOCKING AS REQUIRED)

2" WALL EXPANDER
#8x1/2" TEK SCREWS @ TOP, BOTTOM, w

1/3rd UP & 1/3rd DOWN (INSIDE & OUT)_\
%
[

| Ah,_:m
I / y <~
FLOOR EXPANDER A
MASTER FRAME JAMB AV GANGING POST

PLAN VIEW OF MASTER FRAME JAMB
CONNECTION @ EXISTING WALL

MASTER FRAME SILL
#8x1/2" TEK SCREWS
(2) @ EACH GANGING

(INSIDE & OUT)

~DECK FOUNDATION

FLOOR EXPANDER
FLASHING

#10x2" COATED MASTER-GRIP
WOOD SCREWS, STAGGER
SCREWS @ 16" C/C ALONG

FLOOR EXPANDER BETWEEN
UNIT GANGINGS

~

N

SECTION THROUGH MASTER FRAME SILL
CONNECTION @ DECK FOUNDATION

1/4" DIA. GALV. LAG SCREWS STAGGERED
@ 16" C/C TO PROVIDE MIN. 1 1/2" THREAD
ENGAGEMENT INTO STRUCTURAL FRAMING
(ADD BLOCKING AS REQUIRED)

WALL EXPANDERS

#8x1/2" TEK SCREWS @ TOP, BOTTOM, 1/3rd
UP & 1/3rd DOWN (INSIDE & OUT)

#8x1" TEK SCREWS @ TOP, BOTTOM, f
1/3rd UP & 1/3rd DOWN\
| \ =~
M ﬁéam
=0
I / =
FLOOR EXPANDER \/\
MASTER FRAME JAMB

PLAN VIEW OF MASTER FRAME JAMB & DBL.
EXPANDER CONNECTION @ EXISTING WALL

1/4" DIA. GALV. LAG SCREWS STAGGERED
@ 16" C/C TO PROVIDE MIN. 1 1/2" THREAD
ENGAGEMENT INTO STRUCTURAL FRAMING
(ADD BLOCKING AS REQUIRED)

#3x1/2" TEK SCREWS @ TOP, BOTTO

#3x1" TEK SCREWS @ TOP, BOTTOM,

M,

1/3rd UP & 1/3rd DOWN (INSIDE & OUT)
POST CAP y
1/3rd UP & 1/3rd DOWN
\ >
EAmm
[ / it

/

I /
FLOOR EXPANDER

PLAN VIEW OF MASTE

y i b 7 %
MASTER FRAME JAMB / \/
2" WALL EXPANDER
AV E.R. WALL POST

FOAM KNEEWALL TRIM

R FRAME JAMB & AV ER.

WALL POST CONNECTION @ EXISTING WALL

ANCHORING NOTES:

3/8" DIA. ANCHOR BOLTS

31/2" LONG GALV. LAG

SCREWS INTOWOOD; 3" _

LONG DEWALT SCREW-
BOLT+ INTO CONCRETE,
SET CENTER OF ANCHORS

AT LEAST 2" FROM EDGE OF
SUPPORTING MATERIAL

/-FLOOR EXPANDER
21/2" ANGLE BRACKET

O

MASTER FRAME JAMB
(6) #10x3/4" TEK SCREWS N / 21/2" ANGLE BRACKET
PER ANGLE BRACKET ™ |

#8x1" TEK SCREWS @ 2
TOP, BOTTOM, 1/3rd%'

—

UP & 1/3rd DOWN

AV SD CORNER POST-/
CORNER POST COVER

\ |
1
\—FLOOR EXPANDER

#8x1/2" TEK SCREWS @ TOP,
BOTTOM, 1/3rd UP & 1/3rd DOWN

PLAN VIEW OF MASTER FRAME JAMBS

CONNECTION @ CORNER

POST

\\\\\““(':'X“I////

\\\\\Q\\ \'\ R 0 (/Z///,

O
ASUK KRS

OIS

(2]
LUl
o
-
92
O
—
o
Z
LLl

=
-
&

BY GREAT DAY IMPROVEMENTS, LLC

LOCATION
GDI - RALIEGH
951 AVIATION PARKWAY, SUITE 1000
MORRISVILLE, NC 27560
984-212-7488

LESLIE M. WHITEN
37 MALLARD TRAIL
SANFORD, NC 27332
JOB #20848

DATE
06/15/23

DRAWN
PLA

SCALE
11/2"=1-0"

SHEET
8 OF 10




ANCHORING NOTES: 7]
3/8" DIA. ANCHOR BOLTS
3 1/2" LONG GALV. LAG
SCREWS INTO WOOD; 3"
LONG DEWALT SCREW-
BOLT+INTO CONCRETE

(6) #10x3/4" TEK SCREWS
PER ANGLE BRACKET 1k

#8x1" TEK SCREWS @
TOP, BOTTOM, 1/3rd——
UP & 1/3rd DOWN

FLOOR EXPANDER
21/2" ANGLE BRACKET
MASTER FRAME JAMB

2 1/2" ANGLE BRACKET

/—POST CAP
|

J

|

|
A\ N 1 |

/ 7 = X
AV SD CORNER POST \—FLOOR EXPANDER
CORNER POST COVER MASTER FRAME JAMB
#8x1/2" TEK SCREWS @ TOP, AV E.R. WALL POST
BOTTOM, 1/3rd UP & 1/3rd DOWN
1x3 TUBE

PLAN VIEW OF MASTER FRAME JAMBS & AV E.R.
WALL POST CONNECTION @ CORNER POST

ANCHORING NOTES:
3/8" DIA. ANCHOR BOLTS
3 1/2" LONG GALV. LAG

MASTER FRAME JAMB SCREWS INTO WOOD; 3"
(3) #10x3/4" TEK SCREWS PER LONG DEWALT
SIDE ATTACHING BRACKET BOLT+INTO CONCRETE,
TO UTILITY POST SET CENTER OF ANCHORS
MASTER FRAME JAMB—\ AT LEAST 2" FROM EDGE OF

SCREW-

SUPPORTING MATERIAL
— -
y N
/ / \UTILITY POST SUPPORT
FLOOR EXPANDER BRACKET
UTILITY POST

1/3rd UP & 1/3rd DOWN.

PLAN VIEW OF MASTER FRAME JAMBS
CONNECTION @ UTILITY POST

3" SUPER FOAM
WING PANEL

P
e

AV "H" SUPPORT

GLAZING STOP

TEMPERED GLASS

SECTION THROUGH "H" & GLA

#3x1" TEK SCREWS @ TOP, BOTTOM,

#8x2" TEK SCREWS
@ 18" C/C ALONG
AV "H" SUPPORT

AV 1- LITE FEMALE

SS TRANSOM

CONNECTION @ FOAM WING

(2) #8x1/2" TEK SCREWS ATTACHING
GANGING POST, MASTER FRAME, &
FLOOR EXPANDER (INSIDE & OUT)

MASTER FRAME JAMB MASTER FRAME JAMB

AT/ ®
g —

\
5
\#8)(1/2" TEK SCREWS @
TOP, BOTTOM, 1/3rd UP
& 1/3rd DOWN
AV GANGING POST

FLOOR EXPANDER

ANCHORING NOTES:
ANCHOR W/ 3/8" DIA.

3 1/2" LONG GALV. LAG
SCREWS INTO WOOD; 3"
LONG DEWALT SCREW-
BOLT+INTO CONCRETE

PLAN VIEW OF MASTER FRAME JAMBS
CONNECTION @ GANGING POST

#8x1/2" TEK SCREWS

/- MASTER FRAVE SILL
@18 Clcx
=3

AV 1-LITE MALE/

GLAZING STOP/

I~—TEMPERED GLASS

SECTION THROUGH MASTER FRAME SILL
CONNECTION @ GLASS KNEEWALL

3" SUPER FOAM
WING PANEL
#8x2" TEK SCREWS
@ 18" C/C ALONG
- AV "H" SUPPORT
] AV "H" SUPPORT
MASTER FRAME HEAD—"|
___\/ L1

SECTION THROUGH MASTER FRAME
HEAD CONNECTION @ FOAM WING

MASTER FRAME JAMB
(3) #10x3/4" TEK SCREWS PER _
SIDE ATTACHING BRACKET ANCHORING NOTES:
TOER WALL POST 3/8" DIA. ANCHOR BOLTS

3 1/2" LONG GALV. LAG
SCREWS INTO WOOD; 3"
LONG DEWALT SCREW-

BOLT+ INTO CONCRETE
|

POST CAP
MASTER FRAME JAMB—\

- VA / 0\
/ \AV WALL POST SUPPORT
FLOOR EXPANDER BRACKET
AV E.R. WALL POST #8x1" TEK SCREWS @ TOP, BOTTOM,

1/3rd UP & 1/3rd DOWN.

PLAN VIEW OF MASTER FRAME JAMBS
CONNECTION @ AV E.R. WALL POST

.

TEMPERED GLASS\\

GLAZING STOP—_|

| | AV 1-LITE MALE
~E L

[N MASTER FRAME
HEAD

#8x1/2" TEK SCREWS
@ 18" CIC

SECTION THROUGH MASTER FRAME HEAD
CONNECTION @ GLASS TRANSOM

7, \9/
//

ASUK KR

TINTINN

(2]
LUl
o
-
92
O
—
o
Z
LLl

=
-
&

9
)
g
w
>
2
]
T
o
=3
>
&
g
o
]
&

LOCATION
GDI - RALIEGH
951 AVIATION PARKWAY, SUITE 1000
MORRISVILLE, NC 27560
984-212-7488

LESLIE M. WHITEN
37 MALLARD TRAIL
SANFORD, NC 27332
JOB #20848

DATE
06/15/23

DRAWN
PLA

SCALE
11/2"=1-0"

SHEET
9 OF 10




[c]
2x10 LEDGER BOARD nl.
FLASHING % 3
#8x1/2" TEK SCREWS @ 24" C/C SILICONE SEALANT A ) g
TOP & BOTTOM, & @ EACH END HANGER TAB c N é
#8x1/2" TEK SCREWS @ SILICONE SEALANT A mmQ|l:
EACH END & @ 24" C/C ] E
SANEL CAP #8x1/2" TEK SCREWS, (2) INTO i ol:
3" FASCIA / | | BEAM CONNECTING PANELS ? 48c1/9* TEK SCREWS (2 < g
¥ BOTH SIDES, TOP & BOTTOM " @ e SILICONE SEALANT (BOTH Z 1
: < HANGER, (2) @ FASCIA, (2) ( L T
\\ @ 1/3 POINTS BETWEEN SIDES OF | BEAMS)
HANGER & HEADER
6" OVH 3" SUPER FOAM ROOF 3" SUPER FOAM ROOF ¥ SUPER FOAMROOF
SILICONE SEALANT 3" PANEL HANGER
o112 TEK SCREWS @ 38" DIA. GALV. LAG SCREWS @ LA S
EACH END. BOTH SIDES 16" C/C, W/ MIN. 1 1/2" THREAD | =]
’ ENGAGEMENT INTO EXISTING Y
3 SUPER FOAM WING STRUCTURAL FRAMING 3" ALUMINUM I-BEAM Eg
=
r - [oe)
SECTION THROUGH 3" SUPER FOAM ROOF PANEL SECTION THROUGH 3" ROOF HAEEEL
" - l: = M !
CONNECTION @ 3" SUPER FOAM WING PANEL SECTION THROUGH 3" SUPER FOAM ROOF & PANEL CONNECTION @ I-BEAM SHEEELS
HANGER ASSEMBLY CONNECTION @ EXISTING WALL - a ; (z) §
Oox
= X
=2
=
)
[o>)
N
=z J®
FLASHING W< 2
1/4-20x5" HWH "BLAZER" SD5 TEK SCREWS \ ZE 9
W/ WASHERS ONE @ EACH CORNER POST . #8x1/2" TEK SCREWS (2) @ HANGER, % 09X
#8x1/2" TEK SCREWS (2) (2) @ FASCIA, (2) @ 1/3 POINTS =g
4841/2" TEK SCREWS @ EACH GANGING ~@ SAME SIDE OF I-BEAM 1/4" DIAX2" GALV. LAG SCREWS BETWEEN HANGER & HEADER S<g%®
AND @ EACH END (INSIDE & OUT INTO AV HEADER ARM @ 12" C/C (STAGGERED w oo
3" SUPER FOAM ROOF 3" SUPER EOAM ROOF n==
N~
SILICONE SEALANT — o5
#8x1/2" TEK SCREWS
(2) @ EACH I-BEAM
(TOP & BOTTOM) AV HEADER ARM % T
#8x1/2" TEK SCREWS
(2) @ EACH I-BEAM
3" FASCIA i (1) @ EACH END OF 3" ALUMINUM I-BEAM
P HEADER SUPPORT _\/\— ,
12" OVH (MAX) 2x4 LUMBER (RIPPED TO 3")
AV HEADER SUPPORT
_/ 3/8" DIA. GALV. LAG SCREWS @ 16" C/C IN 1/2"
MASTER FRAME HEAD DEEP COUNTERSINK STAGGERED TOP & g,
BOTTOM W/ 2" MIN. THREAD ENGAGEMENT O 0,
INTO EXISTING STRUCTURAL FRAMING \\\\\ A ///,/ ,
S 7~
3 ~ [oaTE
SECTION THROUGH MASTER FRAME & HEADER 3" ROOF PANEL & I-BEAM 5: % 06/15/23
CONNECTION @ 3" SUPER FOAM ROOF CONNECTION @ EXISTING WALL = = | DRAWN
= = PLA
Z $ [scaE
~ S 11/2" = 10"
) O
//’///{/VSUK \(b“\}\\\\\ SHEET
IOTIIN 10 OF 10




	Sheets and Views
	Whiten - 20848-1 - COVER
	Whiten - 20848-2 - ELEV A B C WALLS
	Whiten - 20848-3 - DECK PLAN
	Whiten - 20848-4 - FLOOR & ELECTRICAL PLAN
	Whiten - 20848-5 -ROOF PLAN
	Whiten - 20848-6 - DETAILS
	Whiten - 20848-7 - DETAILS
	Whiten - 20848-8 - DETAILS
	Whiten - 20848-9 - DETAILS
	Whiten - 20848-10 - DETAILS




